Q o
N o w
= N S E
55 o : .. <y
% < < Sl a3 m_
Ll Q¢ Ol ze
T v < u= =
o n PISERS
% = oS [v8 o
& =
2
w o © W P
T 53 R
~ - >z
W B [Te] O > © s o
QAR - 5 23
[a)
<3 B85z mv._ = o9
0,858 | 28% S <
BNZ3sE =2cg # 03 u
N =839 = = = w P J¢| O
EugP3g =& ] Z: | O
XA aNY 003 -—= = g | 9
Ll ) 2 (——l D mg | X
— 2 ™ o 0O O » [a)
) = o
O WwWon go Os > 7> s S
xOX¥ <% = 2 <2 3 x -
a<opn=8Q V) N 2 < >
N - Om < & = c < c s
|W3.m.. << < _— © 3] ‘N 2y | =
<< T w5 — = =m g 3 54| 3
3y Ngs = 2s|% |4 3 e
O > 2 Jo - £ g N o 0
. <30 558 5|z )b &
< = o i =
g0 ZXXFSE S |w | 5 o
B = =
z 2 w> .29 o 2 | a8 o S
50 % ===238¢% @) So %3 &
O x o O ag|<8§
< E ) ) o o N[ =8 L0
L L a O < . S NE | NG 5
w w o Y a W — = c3lea 2
Z 3 2 2 8 m el R r
Z 03 OS5 & © o5& | 58 O
5 x O < a) N Es| E=
N o zZ4 m = £ 2s 8_
< < <« iz Ll & < | < i =
- E = ST N = = we [ ©
W oW N© = Be| Q
e | o o Q 8 Ok H
oo m o o S |2 g | o
< s 2 2 <, Q £ |5 | eS| 2
zZ z =z L= © Sl |2 z8 | 9§
o - ['q m 4 H
D o . [] o > W —
Z 2 2 & E |2 |3y o
w S = o < 2 > E 4
E NE WP = = .m gl 8 € e N S
G ADnU 0o o 0 w23z 2
2 ws g 3¢ (2 2 o
z 2 =3 = S a 2 E|EZ
L 3 Z¢ z E8|52|Fs
-
<
D
. [Se)
00°768+0 N &
INHOZY3IMVN VINTZHOMLAO JOFINOM
O] O] 000 /\\\&ﬂ,ﬂ? 00 &6 O
11°888+0=N) Wwiee 4 6l 200 o m 0008
SE12z=2d SeM m i .
£0'0 05'88
] 96'588+0=IY Wwiee 6122
_ £ bee=zy gEm 6612 + £ 1 W00 <le F oo A
Elh
9elee 4 €€+ €00 - ovos o
v1°298+0=IN)
07=d0%=S"¢c¥=1dz elee 4 6Tiee 4+ b0 L 0009 S
0glee 4+ e+ €00 - o005 o
[ 9.'868+0=I) e 4+ % + W00 - ooor o
02'12¢=29 €EM
92 L€8+0=I)
| 61°122=24 PEM
vl 4 W@ + 200 - 000 o
0£'€28+0=N)
il + Lee o4 w00 - 000z o
z
£E : _ _ . o
mm gllee 4 e 4+ 900 I T =
x
%P
52 o
£3
=< silee 4 002 800 - oo ——@—
<
55
o dJ
<>
=0
B e 4 w0l A+ 800 ze. | 005 A
SER
£8%
x I
S«
0€'1BLH0=I) 60bz 4 20+ 900 - 000 -
8L°9LL+0=I)
V0'hge=2d VEM
v8'9L2+0=I)
_ H0'bee=zy ‘eem 012z + WL + $00 o000l
€lez 4+ W + 200 - 0009 o
f LGEGL+0=IN) . 1 s . | eee
TS OT T G W'kee 00'k2e 000 05°€5
25'651+0=IN) wiee 4+ 01 + 200 - o005 o
[ ¥6'022=24 "0EM
65" 07L+0=IN)
09=9 Gt=5 GO=117 G0'lC + 6602C - 900 000y o
801z + 66022 -+ 600 - 000 o
Wie + 000+ Lo - 000 -
ellee 4 001e +  2b0 Lo A
9'80L+0=I 0z + 00Kz 4+ 040 Eowo 4 g
0[=4779-SG6=TdZ ¥
o
wlee 4 86022 + 900 - oo ——@—
8602 -+ $6022 —+ €00 - 0006 -
w60cc 4+ 06022 + 200 - o008 -
£L'9/9+0=N) =l 5
£8'0z¢=24 Lt S|
a |
VE'819+0=I) I . L e,
e G 98022 58022 100 00'0L
08022 + 6,022 -+ 100 - 0009 o
vI0ce 4 €02 + 00 - o005 o
| 6" LE9+0=IN)!
09°022=28 'SZM 89°022 19022 : :
* | 20 6€9+0=1) Y £ ‘00 00y |
£8°969+0=I) = E E . -
f 69 0¢C=Zd 9 19022 N 99022 100 N ogse
=
> =
£= £902C 4 29022 + 400 - o0oe -
O N
5N
34
=2 e
e g8
i 65022 - 85022 —+ 000 Ss& | o0z
8= e
OM MRL
* 18 L09+0- 10 ps0z ss'022
88 119+0=I) 9y 022=24 ‘Tehh v L o0 L oo |
1 18'109+0=IN) ] ] C 1 8
f 97'0c2=24 ‘€M oz N rs0zz 10'0- v8'20 ®
9502z 4 25022 + €00 - oo ——@—
£T°065+0=INM ] . . ;
TSI T6S =TT 65022 - 05022 —+ 600 =g [ w0 A
* 057 LG+0=I\M 90zc 4+ 0502 + L0 0008
15°022=24 '2tM
05 7L5+0=I\)
| 15°022=24 "1TM
5902z + 2502 + 20 - oovos o
8902 + §5022 -+ b0 - 0009 o
oroze e 2502z L s1o L o9z
690cc & 5022 & 2o N o005
HE
9902c + 65022 + L00 g8 [ oor o
€902C + 09022 + €00 - oooe o
0902C + 85022 —+ 200 - o00z -
| 05'90G+0=/u ] ]
_ 05°022=24 61 R L R oo 4 g
f 28'905+0=I) J ) g0 4 ¥
| 6v'022=24 02 950z N 95022 S
8502 —+ 95022 + 200 - oo ——@—
19022+ 5022 4 500 - 0006 -
v90z2 |, ss0ez | 600 L oose |
€90z N ss0zz [N 800 N o008 |
090c¢ + €502 -+ 100 - oo0vos o
9502z —+ 05022 -+ 900 - 0009 o
7875y +0=INM
= = - >
0%=d 185 5 0=1dZ £ €502C 4 8v022 -+ 00 - o005 o
05 }yp+0=I) EN
er0zz=zd M 2.3
05} rp+0=I) 8¢
£v0zc=2d SIM xS 6702 -+ 9v0zZ -+ €00 <le F ooor A
e 2|2
sz B[S
g - =S ¢ =Z
Ll _om 8¢ 9r0ze + ev0Z + €00 - o0os -
00 0EV+0 W
X
o
~N
=
i Wwoe 4+ w0z -+ 200 - 000z -
| 6" L07+0=IN)
1€022=28 SIM S . L oo 4 o
L 06107 0=110 66022 18022 100 000} 8
| 1£022=24 "9IM ES
Se0cC + ¥E0Z + 00 - oo +—@B—
LE'S6E+0=I\M /G6'81Z2 =2
06=4707=S9¢=T1Z 00°G6E+0 Wy
€0z 4+ 0802 + 00 - 0006 -
820 4 902 -+ 200 - o008 o
o
o
= | 05'1L6+0=I) szozz |, ezozz |, 200 T
g 6102=24 €M o K . K o
a 167} L6+0=IN 92022 woze £0°0 000,
z 61'02c=24 TIM
o
=
3 6202C —+ 0z + 100 - 0009 -
= Pl )
] =X
4 Il
& iwoee Loz L ovo L owees
oL o0z T8 lzoee R 600 < 0005 T
[0z 4 6402 + 800 - ooor o
0.'8T2=12
; vz 4 402 4+ 900 - o0oe -
00 0€E+0 W
g0z + 90z 4 500 - o00z -
P . L o o
JR——— 81022 v1°022 00 000} 8
60'022=28 VLM ) &
06°20€+0=I 9.8T¢=2
“T00°206+0=W) 800C2=28 TIM : w . 1 5. ] . oy
00°20E+0 Wi 51022 z10ze €00 < e 0000 +—@—
~ A
= Ty
= 3,
= 20z 4 80022 -+ 100 - 0006 -
=
=
=
>
SE
= 60022 - S0022 -+ 00 - o008 o
o
S
52
£=
=2 9002z + €002 -+ €00 Foovos A
N =
8%
R
€002 4 20022 + 400 - 0009 -
| 05°262+0=I\)
v6'6L2=24 0L
05 25¢+0=I)
_ 76612=24 6 0002z = 00022 — 000 - o005 A
16612 4 16612 + 000 - ooor o
v66lc 4 €661 100 - o0oe -
166l 1+ 06612 4 100 - o00z o
L9'PTC+0=IN)
0G=9 0%=S 96=1dZ . .
f selie o ooseiz | 500 L w0 4 g
05'90Z+0=/) . . N
08°612=24 ‘I woiz N sgeie | 00 AT -
05'902+0=)
[ 08'6/2=24 8™ 69612 - 86K -+ 00 - o000 +—@B—
w66l 4 Y8612 + 100 - 0006 -
S66lc 4 ¥86KZ 01O - o0os -
8661z — ¥86KZ ++ €10 Foovos o
woez |, eI 910 y 0
wozz N el 910 N o0
Ly'8YT+0=INX 86lc 4 18I -+ 10 - o000 A
08=d 78-S 901=TdZ
ve6lc €861 + L0 - ooor o
05 LEL+0=I\)
58'612=2d SM
05 1€ 1+0=)
58'612=24 9M 166l 1 €9612 4 600 Fooooe o
896l - 186l + 100 - o00z o
=&
= Q
8|g
86l 186K S0 L oo 4 8
ST'SOT+0=IAM ¥
0G=964=S 67=1dZ - 18612 00 0000
f 05°660+0=W\)1 i A 4 1 &
9161224 M — \ 1612 100 N oges
05'660+0=N)
. | 9L°612=24 M
G0"880+0=\X S86lC -+ WBT +  $00 - o006
09/08=d 19=S 60l=TdZ
8961z - ¥86IZ + 00 - 000 -
l66lc 1 896lz 4 €00 - ooos o
| — v66lc - 166l ++ €00 - 0000 -
0661224 WM
05'250+0=)
) _ 066vc=z4 e iz + sl + 200 L ooos A
88'S10+0=I\)
00150l=9 19=S 60/=1dZ
0002 — 66612 - 100 - ooor o
€002z + 2002 + 100 - o0oe o
9002z + S0022 -+ 100 - 000z o
60022 60°022
-m L o000 L oo 4 o
. . S
0002z 4= 00022 4 oo < o { F
R I ) L e |
= oo oo - - O'
S =) =) =) =) S o S =) = 000 0000
S S S S S S S S S S X i
< o N < > © ~ < I < 2oz 21022
N N o~ o~ ~ ~ — — ~— ~—
N N N N N N N N N o~
00°000+0 W AMn
INHOZH3IMYN YINIZ4OMLAO M31¥Z00d i
N
b ~ =
L > Q [&) @
= @ © = o >
(b} — c (5]
() o (<) = )
[ 2 S 3
(@) = c - = =
[ — L& N -— .nl.v N
= = = > = = B o
(@) [) ) o c c o =
= = = Q o) k) = [<5)
N | © 5 c b= = ) IS
o [0 > N 2 S
o N N O K} K<) =y =
o o oY L (1] (@) X




